=—RERH

1.

THIRERE— KRB )

A y=—8 By i Cy- 8x*12 Dy §|2
i 2.

#H R A,y WA B2,y Y E— i iy = —x + 20 E & b, Wy, » (> <"=)
il 3.

Ry = hoc— 3R BUE phE xRN, W R ATRER( )

A0 B._3 cs D. 20

i 4.

- UREREL y = (m—3)x + S R EUE yhE xfE R TIRD, N e BUETEER( )
Am>0 B.m<0 Cm>3 D.m<3
#l s.

E&y:—iﬁx+2§éﬂ%%ﬁﬁy‘]{ )

ASE—. =, &R B&—. —. =%

CHE —. =. NELR DE -, =, 4R

il 6.

R —REE Yy - (m Dx 1 2m g E S —, =, WRE, WmEEREEER )

1 1
A m<4 B.m< 2 C. §<m‘:4 D.JC i



LB, E¥y-3x bMERZEAALyY) AB2y) W )

Ay >y, B.y <y, Cy=y, D. y,,y, i B RN

23 y - oot MR EUE b8 KT N, W kRERTRER( )
AQ B.—1 C5 D.?2

34K y = (m 3y + SHIER KA ybl x M3 KTER, W pfBUERER )
Am>0 B.m<0 Cm>3 D.m<3

4—WEHy 2 IESAZE( )

AF—FRR B2 R CE=%R D. 2504 %R
185 Px, 3 ), P x,, y, Y& — R EL p = Ax + 3E R LRI el H x <o, Uy y, (A
=< ﬁ:}

19. B2k y = —2x + 12252 it R PR )
A=, =, — B=. M. — [ Do

[1]
=
o
|
=

20 —IEHL, 3 4 NEHEAZIC )
A RIR B %I CH=HM D 457 KR



